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1. (10%)Match the following symbols to the elements listed below:

Cd cadmium
Cl chlorine
Cu chromium
Co cobalt

Cr copper

2. (10%)a5{H FIL B2 u H Rt sl b B0 PR AR S X AL B RS -
3. (10%)AgCrO A FEIE RS 1.3 x 10" moll » 58 Ag:CrO«HJ Ksp ?
4. (10%)sH FIISEYROIAE YY) » MEREABRLEERE ? WE AR ER

[ FEY) 4 )
Cl 1 L™ Cl°
Zn - Ag' Ag > Zn*

5. (15%) Xl 2 B T 7115 18
a LB S E T v bRs 5 | [R 3 (LeChatelier Principle)

b LSS P 7 T FE B (RPN A7 /725 (Nernst Equation) | e

c. T2 Hr45(Bronsted-Lowry )-BERSE 12
6. (15%) stk a, B, y REBRFAHEFH ~ ¥ F#HEbhofT ?
7. (15%) Filling in the missing information in the following table:
PH POH [(H7 [OH]  noid base orneutral 2
Solution 564

8. (15% AR 4R ANAYR 2V is T S Y v Bk, — AL R IR B e AL
AL HCOy, HCOs SR AR Mg P M/ K ZARENE WS 70— 1 -

B HE)H




